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1. Cartagena Protocol on Biosafety is a part of which of the following protocols ?
(A) Montreal Protocol
(B) Paris Agreement
(C) Kyoto Protocol

(D) Convention on Biologicall Diversity E
L]

2. Two statements are given below. One is jalgedled as Assertion (A) and the other labelled as

Reason (R). Choose the correct code for yowswer :

Assertion (A) : Lakes are considered to b&ore susceptible to pollution than rivers.

e —
Reason (R):  Water in lakes may take flecades to be replaced.

Codes : Oj

(A) Both (A) and (R) are correct and (R)'1s fhe correct explanation of (A).

(B) Both(A)and (R) are correct, but ‘(Bhot the correct explanation of (A).

®

(C) (A) is correct, but (R) is not corret. I ,

(D) (A) is not correct, but (R) is correct.
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3. Methane, a greenhouse gas, is emitted from
(i)  Landfills
(11)  Construction debris
(11)  Wetlands
(iv) E-waste
Choose the correct answer from the options given below :
(A) (), (i1) and (iv)
(B) (1), (iii) and (iv)

(©) () and (i) only

(D) (1) and (iv) only

4. Match the following :
List-1 List-IT

a. Histosols i Soil order that ingleees soils formed on voleanic ash

b. Andisols ii. Soil order of col%s including soils underlain by permafrost

aS.com

c. Gelisols i1i. Soil order consis  soils of dry climates

d. Aridisols iv. Soil order consisﬂ soils with a thick upper layer of organic matter
Codes : U)
(A) a-iv, b, c-ii, d-iii = mmmm (B)  a-ii, b-iv, c¢-i, d-iii

(©) ad, b, eii, deiv No =i bii, o, a

5.  Which one of the following is not correcmatched P

(A) Centre for Ecological Sciences

— Bengaluru
(B) Wildlife Institute of India — DNehradin
(C) Indian Institute of Forest Mana% = Kolkaia
(D) Govind Ballabh Pant Institute of Himalayan —  Almo ra
Environment

B o b wia
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6. Which ancient centre of learning is often considered the World’s first university and was
located in present-day Bihar ?
(A) Nalanda (B)  Taxila
(©) Ujiain (D) Varanasi
7. What is the primary focus of oriental learning programmes in India ?
(A)  Emphasizing mainstream academic disciplines
(B) Preserving traditional arts and culture
(C)  Promoting interdisciplinary studies
(D) Incorporating modern technological a ﬁements
8.  Which among the following cannot be stan@e institutions of higher education ?
(A) Affiliated Colleges .
(B) Business Schools m
(C) - Nursing Schools m
(D) Polytechnics : :
9. A university that shares learning resources.“ﬁfh‘ different universities can be described as
. -~
(A) Affiliating University -C
(B) Alpha University U)
S
(C) Meta University w :
(D) Unified University GJ
10. NAAC is a/an L —
(A) Recognizing body O -
(B) Accrediting body I I !
(C) Affiliating body
(D)  Auditing body
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11,

Identify the combination of three main aspects of pupil learning which are important for

effective teaching from the following and select the correct code :
(i)  Pupil attending to the learning experiences
(ii) Appropriate learning experiences
(iii) Teacher controlling the pupil

(iv) Pupil receptive to the learning experience

Codes:
(A) (i1), (ii1) and (iv) & (1), (i1) and (iv)
(C) (1), (11) and (ii)

@1 (i), (iii) and (iv)

12. Identify the institution which is directly re(szible for the professional growth of teachers
in India. <78
(A) NAAC @ TLC
(©) CSIR (D =vvre

13. Which of the following is not the charact f ‘Swayam Prabha’ ?
(A) Group of DTH channels Quality learning resources
(C) 24 x 7 Accessibility Not a platform for MOOC

14. Suppose a teacher performs a self-asseasmmemt in which he/she examines the pedagogy,
articulates reason and strength for strate sed in the classroom. Identify the method
referred here.
(A) Macroteaching q;} Microteaching
(C) Internship in teaching Reflective teaching

15. What is the major purpose of choice-baseq cpedit semester system in Higher education ?
(A) To reduce the number of courseg oﬂm each programme
(B) To provide flexibility in course selecti;m and credit accumulation
(C) " To standardize all courses acrogg different universities
(D) To eliminate examinations and assessments
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16.

17.

18.

19.

20.

Which of the following statements best describes the positivism approach ?
(A) Positivism emphasizes the importance of subjective experiences.

(B) Positivism advocates for teacher-centered approach.

(C) Positivism emphasizes the use of qualitative research methods.

(D) Positivism seeks to uncover universal laws and objective truths.

In a research study investigating the eff f a new drug on blood pressure, which of the
following steps involves recruiting partici

(A) Data analysis @) Hypothesis testing
(C) Literature review (-D)) Data collection
|

ts and collecting relevant information ?

Which section of a thesis is typically rm)sible for outlining the research objectives,
methodology and scope of the study ?

(A) Introduction ) Literature review

wjeell) Analysis

What is the main purpose of including r!g:es and citations in a research paper ?
(A) To make the paper more visually apm
il

(B) To give credit to the work and ideas w—;er researchers
(C) To increase the word count of the p |

(D)

(C) Abstract

To show the number of referenceg uw the author

How does ICT enhance data analysis in chh 9

(4) By discouraging the use of vis“ajimools for data interpretation
(B) By providing access to advanceq statistical software for automated analysis

(C) By requiring researchers to perform caleulations manually

(D)

B i itior '
y promoting the use of traditiong] libraries for information retrieval
__-_-_—-_‘--'--—--_-_-__
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Comprehension

Today, I, Rabindranath Tagore, complete eighty years of my life. As I look back on the
vast stretch of years that lie behind me and see in clear perspective the history of my early

development, I am struck by the change that has taken place, both in my own attitude and in

the psychology of my countrymen — a change that carries within it a cause

of profound
tragedy.

Our direct contact with the larger world of men was linked up with the contemporary

history of the English people whom we cameEOW in those earlier days. It was mainly
through their mighty literature that we forme

» ideas with regard to these newcomers to
our Indian shores. In those days the type of 1

g that was served out to us was neither

plentiful nor diverse, nor was the spirit of sc@ic enquiry very much in evidence. Thus,

their scope being strictly limited, the educated of tHose days had recourse to English language

and literature. Their days and nights were elo t with the stately declamations of Burke,
with Macaulay’s long-rolling sentences; discus

centered upon Shakespeare’s drama and
Byron’s poetry and above all, upon the large

ed liberalism of the nineteenth century

English politics. At the time though, tentativmpts were being made to gain our national
independence, at heart we had not lost faith i

generosity of the English race. This belief
was so firmly rooted in the sentiments of our s as to lead them to hope that the victor
the vanquished. This belief was based
shelter to all those who had to flee from

who had suffered for the honour of their
ds of the English.

would of his own grace pave the path of free
upon the fact that England at the time provg
persecution in their own country. Political m

people were accorded unreserved welcome at

1 was impressed by this evidence of liber anity in the character of the English and
thus I was led to set them on the pedestal ¢ highest respect. This generosity in thejr
national character had not yet been vitiated o BsrislistipeidetAboni hic e oo - 1. .

! LI-P oy in

England, I had the opportunity of listening to the speeches of John Bright, both in and outside

Parliament. The large-hearted radical liberalism of those speeches, overflowing all narro.
w

ti 1b
national bounds, had made so deep an impressjon on my mind that something of it linge;
even today, even in these days of graceless disillusionmsent: geits
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Comprehension

00D, TR, CIeoBRG ey rieett, I3 ARV AJENCTAT:Y dd?ﬁ%}d& et I, I3
gymiEnes Depf ST, LoShN Meedmon @) FF 80D WYIHiah vdmrsa 37
ch%ﬁjaﬂﬁdf.z JeeBuen, 33 ®,038 IS D) I, BeITonY dﬁraeéggaaﬁdeg T[0T
wBUSHEAOT TR BFIBBR, ¥MeNGeS. wrdevrt B8YDIT WBo38, Zdnmend wEueas.

PDAC TG B[0LBERoBAT I, Fed FoTBERD) B LOOT DINYY 7oz 39DDS
gofa’ BI0 Iz 28BISTRDT Fowor BRoDT. BTN ¥ST Swe o533
wed I, eddead 3ed3, wod 8 BRI FooRITOB Ty I, 8dRedSNYR),
RTS8 DINYY S eBduogmmsdBad TFOP IRFDNCOU WG
8 FELNCOL VBT &32508 NeIeTes RReIBT HTE Hed) RCOY. &erveh, 93
YR BN eWIDINR), VOB Iy 20N @ D) TSI B B8ZAITD.
OJIT BeD TGN WEER MooDeadrd Fplapnisioodn, zectad DBege AL Sgliiclelalg)
QAT Y@NGD); WeIenwd @des® SaLO'R ks WA 0T 5953 et Beoled BmoNga)
DI 203,038 FeN BIROWISIe B3RS & Oodeadd JTew BB eVDeCHBT

2oees Seo@)ese)émﬁdo@. es ﬁasaoi)dejn S %eai) @So@zsdaig( DB aden 3939, 03
AW  SBadwdZde, B)BBO ofa® 2eond Bmeabemd SoDBabI
3YDBRoBTOL. B3 SodBaiw S, o WoIINYY ox), B)B@eN BedpdIoTT;
ozl B BBWoB VROV EIE 808 T TR Dridriedxb@s ow
Al ST, BeodeolR). & Sodd DABY worfor S, 3e339) Apexasdod

TRWT AeBSeEd opdrie s3abax, (S oo wozERy ©EdIR. B, BIT
PS8z, Reed) BRbIAB Tozdead B8 OTIh ¥ahod3B TYNBTNY, eBDSFD.

QoNRT eVTCmR SreddeahBad &5 SBeSNod Tord BRIIBING DR Berron
OITY VY 0ARI MPOSE B3O 20T SR AR Oe) Tod ead FAPBBO s
Loeabeg) oD BT @ voNddy. & IDabdY, worjorFse
BRTNTIR, BodR wert D) Bedr ﬁ‘@.ﬁéi&‘ VBT TNV, BeWS S5Z3 ISt
WD, &8 ganny @y BHEWE sl Pttt avy Jomess 03d ea NANYRY
D, 31 DRYBY oR), Bvas Beed ANOI0uT, azdre B8, FEDUT 3BV <
BIBOe @y Bum) wodrwd REBMe VOB

e

—

Space for Rough Work / 2,535 a"oﬁa; g

(13-D1)

(¥ Scanned with OKEN Scanner



Answer question nos. 21 to 25 with reference t0 comprehension.

. . il : ?
21. What, according to the author, contributed to Indians forming ideas about the foreigners !
(A) English rule (B) English literature
(C) Administrative system (D) Economic development
22. What was lacking in the educational system of that time, according to the author ?
(A) Philosophical enquiry § EB) Moral principles
(C) Diversity OD) Technological advancement
23. Why did Indian leaders believe that the @sh will give freedom to our country ?
a
(A) They ruled us for a long time. m
(B) They provided shelter to many polimeaders from around the world.
(C) They wanted to go back. z
(D) They ruled many parts of the worla!_'
24. Which quality of the English impressed t@mr ?
(A) Imperialist attitude - ) National pride
(C) Cultural orientation ) Liberal humanism
25. Why was the author influenced by the SD&RS of John Bright ?
(A) Because his speeches were relevant Wes#nd national boundaries
(B) Because his speeches were in flue ish
(C) Because he spoke about the Wwelfare of the English people
(D) Because he always Supported the freedom of other countries
__‘_-_-_‘__‘-‘-"---__
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926. Match the following :

28.

29.

30.

a. Dewey i, Communication is for learning from each other
bh. Aristotle ii. Oral communication is superior to written text
c. J. Krishnamurti iii. Shared experience is the greatest of human goods
d. Plato iv. Ethos, Pathos and Logos
Codes: ;
(A a-iv, b, c-ii, d-iii (B) a-i, b-ii, c-i, d-iv
(C) - a-ii, b-iv, c-i, d-ii . (D) a-ii, b-iv, c-ii, d-i
Which of the following statement(s) on eEV8 communication is correct ?
(i)  Communication is exchanging info ion.
(11)

Communication is understanding U‘n

otion and intention behind the information.
(A) Only (1) is correct

e
+B)  Only (ii) is correct
wD) Both (i) and (ii) are correct

Which type of communication promotes §o
(A) Intrapersonal Communication '
(C) Group Communication

(C) Neither (i) nor (ii) is correct

orative learning in a classroom ?

B) Interpersonal Communication
D) Mass Communication

'H
Which one of the following is a reading t

- . - . " que ? t
(A) Skimming Expository
(C) Persuasive

- B)
m) Therapeutic

Two statements are given below. One is

ed as Assertion (A) and th
Reason (R). Choose the correct code for e other labelled as

r@inswer ;
Assertion (A) : Barriers of communicati

e the hurdles that affi !
reaching the receiver., ' ect the message quality

Reason (R): It may reduce the emotjg

istance during communication_
Codes:

(A)

_ Both (A) and (R) are correct, and mhe correct explanation of (A)
(B) Both (A) and (R) are correct, but (R) is no :

. t the correct explanati f
(C) (A) is correct, but (R) is incorrect, . g
(D) (A)is incorreet, but (R) is correct,
: PR : .
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}Agﬂﬁ@ﬁ?@ Bo0BY :
a. G

TOSBI) F0x,0 BOabey

b. edzeesf 1i.
5 L ZIPds TOTBI) ODI 383,08 VBTN
c. 2% ﬁnai)ﬁéf: :
o 2 . Boaszat, OISR IS eV bglETariala
. Seedee i ¢ = ; :
< Ve omeexs, magines D) edeertoex
BRETTIY :

(A)  a-iv, b, c-ii, duii
(C)  a-iii, b-iv, c-i, d-ij

?‘/ B0mDF0 BoBBIG BYAR odrss g
(i)  ToBBIY b ASohaAs.

(i) TBoTBIY SodbSah LoD 23T =y qzai& OBERBERRID
= & v i

B o bl
(D) Qa-iii, b-iv, c-ii, d-i
<{{af*d) &S] NG ?

(4) () 33, WaireAe B) TIPS SOaiRAG
©) () ewas (ii) Fdabe (D) 3 (i) 00w 7O
267 s Bedab RodERy 30r3abe) 50 SOdm s 2
(A) 333 SozB (B) 205 O mamd
C) rox) FozBI3 (D) 3 TBoI3BI

E 3NRINYO ainemyd LS Sodmond 7 T
(A)  Q,ore (B) -:@ma
) BRIODS (D)

/3)/ A0 Beosrivay, Svrt Qecdand. Lodh IR (A) aoch et ARG o Rt opic
5206 (R) 0od efeer Syomernid. A, evdo Oadod e esad, a8 : ’ e

3B (A) : ToSBIB LBIBA @eébﬁﬂgﬁ BWPS Tode3B rdeRus e SO
Redhad BBERYNS. y

2OR[R): e BoSBRE ST maﬂﬁ ©0B0SR) 38 BBV,
BTN :

(A) (A) @@ (R) o08» BONS ) (R) Wamd IS0,
(B) (A) =) (R) o0@R BTN, 830 (R) (A) ] 38t JSSBabe).
(C) (A) 9, 33 (R) S),
D) (A) 33, 8ad (R) "'n:-"aainﬁc!.
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not belong in the series ?

g figure(s) does/do

31. Which of the followin

1 I

(A) TorlIll @ IT only

() HandIV . @ IV only

32. On the total amount received by X, 20% wment on purchases and 5% of the remaining
on transportation. If he is left with ¥ 1,52{Mt is the initial amount ?

(A) T 1,800 ﬁ F 2,000
(C) %2500 _ mf 2,800

W

33. Aman, Biman and Chiman enter into a pgffdrship by investing ¥ 36,000, 44,000 and

Z 28,000 respectively. Aman is th o
p y 1s the workmmr'tner and gets one-fourth of the profit for his

service and the remaining profit ig din

amongst th s : .
investments. What is the amount of SR & e three in the ratio of their

T 5,400? - t Chiman gets, if Aman gets a net profit of
(A) T 2,100 i
,200
(C) ¥ 1,000 (
D) % 1,500
RET N
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]
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V' T —— 3 s

32.

33.

& 29N odred ©03(r) 33(35.3(11)0

RBedhB3/BechDY ?
s
R O
Q
I II 111 IV Vv
C) a1V (D) 3,

O

X 8000 wey, @e3BY, 20% 2Bedrern D@ cved 5% z0rn SRdeNd. eSs 330

¥ 1,520 6090G3, 8808 e om), ? m
A) T 1,800 (B) gooo
(C) T 2,500 (D) w800

Yo

B, DD DR BDF ebgR@eN T 36,0 44,000 @) T 28,000 Bo88 Soa Seers
POV aplelopiaplo AN 3D 30T DS mmdmhmgd DR B0 JeSmeN evedd Joe),Je
203 ortsa, SBainzed DR KLE3 mﬂjdm@ BERBNY ODTIBBO RSB JonBZeT A,

OB T 5,400 IGY OISRy, BEBS, VDI @néﬁ 0930 e o, ?

(A) % 2,100 (B) 1,200
(C) % 1,000 D) T 1,500
-_-_-_'_‘—‘—-—__ ——
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34.

35.

Two men and three boys can complete 2 piece of work in 10 days, while 3 men and 2 boys

, 7 e lete the
can complete the same work in 8 days. In how many days can 2 men and 1 boy comp

same work ?
(A) 12 days (B) 10 days

(C) 12-5days (D) 11-5 days

. 1
A hare takes 9 leaps in the same time as a dog takes 4. But the dog’s leap 1s 2 3 m long,

while the hare’s is only 1 m. How many will the dog have to take before catching the
hare, if the hare had a head start of 16 m

(A) 190 ) @) 192
(C) 184 (-D)) 179
a

36. In the following question, three statemen given followed by four conclusions. Read the
conclusions and then decide whether the conclusions are logically true or not.
Statements : ?ﬁ

All trees are hills. x

Some hills are animals. b

All animals are birds. _C
Conclusions : U)
L. Some birds are hills. 0 —
II. Some birds are trees. w
III. Some animals are trees. G)
IV. No animal is tree. |
(A) Only I follows O
(B) Only I and III follow
(C) OnlyIand IV follow I m
(D) Only either ITI or IV and T follow
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gy DIV DB sty gy o

3@ 2 BRND e swam 8 By 0
wie BOTI, Q@&Frﬁa@gmaﬁ)m >
@A) 12830

©) 12:5 BIN

BIAYY word BUTBY, BeerrePsaaid. 3 YHRD
Fpearrie Ve, 2 HhaEd ) 1 adn @), BIYO

(B) 10 BINW
(D)  11-5 OIAW

‘3;5./ 2o SR0Y) 9 Ju BAadng RDAbTO ~od 4 <o Bodn3d. 8ad Tadbad 2NB3 vy 2— Qe
shgdd deud NST NG Bedo 1 e

16 cbe S, deds desw Q,@sarrira@mcgd
003X, LB Reen o) AR, Jeo a%ﬁué:\rqu ?

(A) 190
(C) 184

(B)
(D)

}e/ 390 &JE’OjJ@ Aled) Se@ﬁﬁ?aﬁ eBeINE So38 e, 3edm€edrwab e{’lec:SUaﬁd (Bedmm’rwm
00T F03T AeBB SeRToenw BN

BEYS/TL) -

[ATAP) Qucse oowdaig‘ 0.

R DTEe Jeynive.
B0 Be3nW Teriw.
DY TYENW JZNW.
SecXrorrTed) :
L 3ug) 3gnw Sunvend.
L o) Sgriw Sorivena.
I Bog) sydniv aonvens.
V. adrd @eedatve OB,

(A)  Bego 1 Bes, KON

B)  geze I s 111 3593 IOWNS
©) ez T s IV @red) FOWNS
D) Begses 111 esgiae IV B I BONT
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B

g : pelow represent .
g87. The triangle, square and circle show? as marked [ g, hardwoﬂung and EduCated
7. 3 < L) . . 1],,(\ [ = e LE
p(‘t"Plt‘ respet‘.t-i\’t‘l.\’- Which one of the & VII represent the urban educated %

T
who are not hardworking !

com

A) II «B) I

© IV No m

38. Answer the following questions on the&? of the information given below :

= P fd
E
« | s

I B

Q S

gh

eS

Four security guards P, Q, R and S havg heen posted at the four corners of the huge cashe¥
plantation farm as shown in the above @e.

Y . s
From the original position, P and R tie diagonally to opposite corners and then 0n¢
i ‘ ?
each in the clockwise direction. Which of the corners is unmanned at the moment
(A)  South-West

ide

(B) South-East
(C) North-East

() North-West 7. CEE

—— . .
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5590733, T~ VII gog, rbd_;a;:g DY FabaeN 0, Faddeo ) Ao 2T
2 30R), BEIRBS ? 730 HeFrive olndd 353y 0 andd Sid dmEes
I
II
| IV
VI
hi VII E

| Q
@) I e

© v (D) 11"

_/;(' 391t AeBUIT SrodbSad B350 ahees & 6%&3@@& VB0

R P

E
Wl

F:

sightk

Q S .
e B3BO RedIDB0S 2B 1100 Towy, SeUinvd M BB 2208 P, Q,
Ra S oD, JdadeedTeroNd. p

Ao mpstod, P @a) R Saerahoan oo Prorient worvesd ey o030 Bdoteods
B03meseCmen B,FY BOWIT- ésﬁd)cduww Setdabe) BPSSCLITNE ?

@) I3, Pl e
©) ez , AR
o |
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39. What is the value of
1 4

2-3 5-6 8-9

(A) 8

(B) 10

C) 7

(D) 13

40. BEHAVIOR is rela_ted to IMPROPRI in the same way as WORD is related to
(A) USAGE

(B) MORALITY
(C) HONESTY

(D) MALAPROPISM

asS.Com

41. Study the table given below and ans'ler ége following questions :

2011 -12 | 2012 €T3 2013 - 14 | 2014~ 15 | 2015 16
5

{Xrea 59 _ -5-96 S 6-1
Production 8-96 8:0 9-99 9:6 m
Yield 1518 137 1676 1602 m
Units : Area is given in million hecf . Ha)
Production is given in milliozm:: (Mn; T) and
Yield is given in kg/hectare (2%
If the production of maize increases

as the growth rate between 2012
(in kg/hectare) of the crop in 2015 —

(A) 2276

Maize

S

# compound annual growth rate which is same
and 2013 — 14, then what would be the yield
under cultivation remaining the Same ? =

(B) 2518
(C) 3124 (D) 2850
Space for Rough Work / 2.8 30:13; %&'3 e
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/BEHAVIOR 3dg) IMPROPRIETY o I3
ARYTE, BooRI ? ;
USAGE

MORALITY
HONESTY

8. @l TowoRdBadee eade Beécmcg WORD

(A)

41,

MALAPROPISM

2041 -2 2015 - 16
> 33e3 5.9 61
éﬂ o= o8 9-12
B | owse | 1518 Tt
E— S CeBaih, Qoo B3oivg SBETR (Mn. Ha)
VT, B0, DO TS e @ (Mn. T) 2a3)
Y.

DB 2eevd evEBFD Foadwyg DoAFB

BRSO, BB/BF 0B dedRN

dvidab oS @updd BE e 2012 - 13 D

2013 - 14 8 SdAR Yvadriab BOBE “35?55‘? Bed wae 2g0, 2015 - 16 8O WO

(32/88 e0"30) 2dD3BE ?
(A) 2976 (B) 2518
) 3194 (D) 2850
1
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42. Study the following graph carefully

43.

- and answer the question below :

B - & - Company X
100 - 0= Company Y

90 A
80 4

&

S 704

[ 1

- G0 A

o

Q

e 504

QL

404

30 . B
20 - E _
10 - O

0

==

2007 2008 2009@10 2011 2012

Yegr =

The expenditure of company Y in 2008 mZOOQ is T 25 lakh and ¥ 30 lakh respectively.
What was the total income of company Y*i®2008 and 2009 together ?

(A) ¥ 86-31lakh (B) ¥ 813 lakix((})
b

A question is followed by information,ii three statements. Study the question along with
the information given below and deci

T 85-5lakh (D) ¥ 83-4lakh

information in which of the statement(s) is

necessary and sufficient to answer th tion. Choose your answer from the options

provided. =

What is the two-digit number ? w

i. The number obtained by interchalygislg the digits of the :
number is
original number by 18. . — i greater than the

ii.  The sum of the two digits of the nr is 14.
iii. The difference between the two

Wf the number is 2.
(A) Onlyiandii : (B) iii and either i or ii

(C) 1iiand either i or iii (D) iand either ij
11 or iii
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?/ BYNS My7* O, a3 B0 OGS @l @) VAR B3I VB0 :

N
100 Jl -} - X ﬁOwca
90 4 ==Y B0
80 -
70
§L) 2 = EI\\ oz ,EI\
8 60 - & \ - Jl
B 50- g
18 \
® 40 A i3
\
30 - § b
20 -
O
0 T T T T W
2007 2008 2009 2010 2012
L]
| Seried
2008 &bz 2009 SO Y Bozdodb aebe @&m‘gﬁ 08 D) T 30 0F 2008 @) 2009 GO Y
B0BIAD 2t S SR, ? O
(A) % 863 03 ®) ws813og N zes503 (D) 83403
H
487 w0 3Fob Swod s Bednve antagis, dccens. dvi edons anbdatectrt

SBOR, VPN Fed DR JF T m@a@a BePd onizg, DR TBNHIT 0T,
ABEDL. wBNIT Bodh,RPT A, LSBT, #

SOT-e08ah Boal, WD ? w
i Fogab eodnva BCRT udmo‘bm@os BU Roaf,oln e BoaRo3 18 dodd
B NDIT. L

i, Goal,ol OO wodnY Redwy 14 NS, O :

i, moss,b o0 ©oBNY ST aéméﬁmd
(A) i@ ii @3, iii ) § 0B i

(C) iicha) i egoe iii D) iR ii 0B iii
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44.

: ) i |

A new express train has a capacity of 500 seats, of which 10% are in the Executl‘f cfa:s
and the rest are in the Chair car. During the journey, the train was booked to 85% = S5
capacity. If the Executive class was booked to 96% of its capacity, then how many Coale GO
seats were empty during that journey ?

(A) 87
(B) 173
() 9

o 8 -

45. Two quantities, one in column A and onwolumn B are given. Determine the relationship
between the two quantities.
L]
Column A Column B m
9+ ;1 10
©
9+1
(A) The quantity in column A is greWn the quantity in column B.
(B) The quantity in column B is g'reat£ than the quantity in column A.
(C) Both the quantities are equal. U)
(D) The comparison cannot be deterh®®#™from the given information.
46. Which one of the following organizatimaintains the database related t
. 2
IP address of the Internet ? | - : Hlocation of
(A) World Wide Web Consortium (WS@
(B) Internet Engineering Task Forcl (:E’I‘F)
(C) Internet Corporation for Assigned Names and Numbers (ICANN)
(D) Internet Society (ISOC)
e
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%/ OB B B4t 500 esiries DG FI), B0BT, BBV 10% svabedmoras SredOD
DR NPT BeTF ZorFNS. .

DT b, TR VB0 TGS 85% 1t SO,
SDEATIFBS Brieey o5y i

CODGED 96% 8, 5AYOIGT, & Bairnsd @) 23e0f BTk deedriwd

27000reNG) ?
(A) 87
(B) 173
C) 172
(D) 85

/ i L
ii;é/ Svar A D) se0F B SO 8D @dm'arﬁerse_mﬁd. QTR FWeeny SIS GeATlATA )
i AFE0D. '

So3F A SoF B Q
L]
1

Grape = on .
+0.9+§1_1 10 Eg

(8)  =03F A R BER6DY B soaftoNgmnng os SmRhsEs.
(B) m0af B abds anng A swdrOBEE snns,os Suhses.
(C) oTEe BanaRY SST=mN. =

(D) QeBHST Sredb3dod @B, deg!)@&o. ‘

4,649 BYNS BoFrive) alreahdh @ousress IP ITAl@Bousr DowoddE Benwer oxh ISFbBE 2
; D 33
() Befr 3,0 f Speeirobo (W3C) ¢

(B) @ou33Fes 0BIoBOrT e, FHoease (@)

(C) @ouIres® md@?deaa‘ ‘P Jed¥, wm&m«g (ICANN)
(D) <@ourer Rl (ISOC)
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47. Match the following :

a. Internet i, Private Network

b. Intranet ii. Local Area Network

c. Extranet iii. Public Network

d. Ethernet iv. Virtual Private Network

Codes:

(A) a-ii, b4, c-iv, d-ii E

(B) a-iv, b, c-i, d-i

(C) adiii, biv, i, d-i O

(D) “a-iv, biii, c-i, d-ii O

a

48. In which year was the EDUSAT, the m Indian Satellite built exclusively to serve

educational sector, launched ?

(A) 1984 (B) 1994 (Q) 2004 (D) 2014
49. Match the following : -

a. Physical classroom i.  Online/offfine — Asynchronous

b. Virtual classroom ii. Online an e — Asynchronous

c. Hybrid classroom  iii. Online -aSymelronous

d. Recorded video v. Offline — m_ronous

Codes: GJ ‘ :

(A) a-ii, b-i, c-iv, d-iii h) a-iv, b-iii, c-ii, d-i

(C) a-ii, b, c-ii, d-iv ®) a-iv, beiil, o, d-ii
50. Which is an alternate term referring t, m domain name ?

(A) Uniform Resource Locator (B) Unique Resource Locator

(C) Web Resource Identifier (D) Web Resource Locator

el
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. SRV aoBd
a. @ot3Jees’ i

WoIN SeFFSse
b, @oeRes . deeser oo SIS
c. a5y e . zesrads Sursst
d. o33 V. FDe3er e SeFSBE
e N

(A) a-ii, b-, c-iv, d-ii

(B) a-iv, b, c-ii, d-ii

(C) a-iii, b-iv, c-ii, d-1 E
(D) a-iv, b-ii, c-i, d-ii O

48 3018 Toadd, Jesd IR FFeszn AAGSYS Seso gavdedd evari@mes EDUSAT o)

A IRFBO BYBoPRIIR) ? v

(A) 1984 (B) 1994 ) 2004 (D) 2014
49, SRRV HooBR | \V

a. O3 3013 i e T — OREOS

b. beaer 3RS ii. e

c. B0 301 o

d. Sz 83 JeBain iv.

BTNV :

(A) aii, b, c-iv, d-ii ) a-iv, bdii, c-ii, d-i

(C) a-ii, b-, c-iii, d-iv D) a-iv, b-ii, c-i, d-ii

A0. SR 5 drhert BITRY, eveJedbS a:’ormd oI ?
(A) oddgeare DXpeT’t epBeL0” (B) Az BRdeex's edodeeso’

(C) S dAeears DB 000" (D) B Bdeex's dpdecso’
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